SUIT reference protocol (RP1 and RP2) - mt

RP1 Event MiR |02 ([P M mt|02 |D c ) G S Oct |[Rot |Gp Ama |[As |[Tm|C Azd
P Titration 1l

[ul] 2100 5| 10 4/10] 5| tit 10| 100| 10 1 20 1 5| 5 100
RP2 |Event MiR (02 |D mt [02|Oct [M.05|M.1 |M.2 [c [P |G S Gp |U |[Rot|AmalAs [Tm | C |azd
P Titration 1l

[ul] 2100 4/10 10 2 2| 9.5| 5| 5 10| 100 20| tit 1 1 5, 5 100
RP1 Event MiR |02 ([P M mt|02 |D c U G S Oct |Rot |Gp Ama (As |Tm|C Azd
P Titration 1l

[ul] 2100 5| 10 4/10| 5| tit 10| 100| 10 1 20 1 5| 5 100
RP2 |Event MiR (02 |D mt [02|Oct [M.0O5|M.1 |M.2 [c [P |G S Gp |U |[Rot|AmalAs [Tm | C |azd
P Titration 1l

[ul] 2100 4/10 10 2 2| 9.5 5| 5 10| 100| 20| tit 1 1 51 5 100
RP1 Event MiR |02 P M mt 02 D C U G S Oct |[Rot |Gp Ama (As |Tm|C Azd
P Titration 1l

[ul] 2100 5] 10 4/10| 5| tit 10| 100| 10 1 20 1 5| 5 100
Rp2 |Event MiR (02 |D mt [02|Oct [M.05|M.1 |M.2 [c [P |G S Gp |U |Rot|Ama|As |[Tm | C |azd

P Titration 1l
[l 2100 4/10 10 2 2 9.5 5 5 10 100 20| tit 1 1 5 5 100




